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2-3 Introduction to Functions Date

e [ can interpret function notation and explain how the output of a function is matched to its input.
o [ can interpret the meaning of an ordered pair

Frank is an employee at Burger Castle and earns $7.30 per hour, working the front counter. His salary 1s
calculated by using the rule y = 7.30x, where x denotes the number of hours he works and y denotes
his total salary.

# of hours worked | 2 3 4 3

I .

Total Salary $7.30 $14.60 $21.90 $29.20 $36.50
We will name this function by using function notation: f(x) = 7.30x
f() =E, f(2)= H'éo, ,C(%‘) = $29.20, —@z $36.50 |
Explain what £ (1) = 7.30 means in this problem situation. L& he. Lol arehooty 1 AT

064 '4*7:3
f(8) jgg-"’@ f(28) f;)o‘-{_‘{’o g(l5l$109.5o, *?@B:s;lsmo -

Sally also works at Burger Castle, but she earns $8.15 per hour and a $15.00 bonus for working the late

shift. Her salary is calculated by using the rule y = 8.15x + 15, where x denotes the number of hours
she works and y denotes her total salary.
We will name this function by using function notation: s(x) = 8.15x + 15

Given x find sfx) Given s(x) find x

« s sy | & 3

- ]
seo s Esng 863,90 $283.95

ao = &ISx «1S
Solve problems 1-3 using function notation. -\S _; ¢v-& (5« =S
1. If Sally worked for 38 hours, then what would be her total salary?|

Sz £ (5(2) HS = 324 —» [S(€) = 32‘{ 7

2. If Sally made $235.05, then how many hours did she work?
Q3505 RS x 415 x=2AT Y= 235.08
3. Sally earned $178.00 and $357.30 d“[ﬂ;’a two wu:ks of wark. How many hours did Sally work for

those two weeks? \8 = &15,7/S A5 30= E\Sx 4 IS
’ < 'SO
X = 20 oot 560 lg[ = 43 houre F(Lf9537 J
4. Explain w}?y Sallly s total salary 1 1sﬂa ﬁ:pnctlon ;f hOurS worked. @fi——-:\)ﬁ —
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Function Practice:

f(x) =3x Write as an ordered pair (x, f(x))
Fy =2 (3
fo=b (R .6 )
f-="15 (=5, 15,
Fas=4.5 (15,45,
pr ]
/ (%] -4 3 .2,
ro=0 8,0,
C =3 xcz3
Find the value of x when f{x) = 15.  ( 5 , ( 5 ) —7 (—; 3 ’
Find the value of x when f{x) = 0. ( O ] O )
Find the value of x when flx) =-12. ( ~ '-( , \ 2 )
Find the value of x when f{x) = 10.5. ( 3. 5 , 10. 5)
Find the value of x when flx) =-15. (__ 5 , -1S )
Write a function rule, in function notation, that could result in the following ordered pairs:
x f(x) x (x) x f(x) x f(x)
2 |4 2 3 2 |4 2 |4
-1 2 -1 -1 -1 1 -1 -1
0 0 D 1 0 0 0 0
1 2 1 3 1 1 1 -1
4 2 5 2 4 2 4
= ' 2 2
£Go= 2% L6 derl  £bd= x £60=-x



